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§7. 1 SEBDERT ALIONJE{ES

1. % cd = R—LT A ININEE)
2. % mkdir chapl9 = T4LVM)chapl 9% 1ERL
3. % cd chapl9 = T4LMN)chapl9~&El

4. % netscapeZ{#-oTdatal9% chaplon¥O—K

5. $ tar xvf datal9 = HUTILT—ENEE

queue.c
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> BFERFRE LU —ERBERELER S MIHLY, S—EXBONIOTHEET
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Fr-EhbiEE:  A/p
EISfFHEF: A/ (B (u-N))
TFLER: AN/ (U (p-A))
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§7. 7 L2al—avMEKIE

siml_time: ¥Zal—iavBif(AR)

1: MAA)

m: u(A )

queue_length: FHTIORS(WHE)

n: EIE DA BB 0)

wait_length: REFLTARS(H—E RFERO(#HAE0)
stay length: REFLTARS(—ERFEL )N WHAE)

for (i=0; i<siml time; i++) {
if (queue length && rand() < RAND_ MAX*m)
queue_length--;
if (rand() < RAND MAX*1l) ({
queue_length++;
n++;

}
wait length += queue_ length? (queue_ length-1):0;
stay length += queue_length;

}
EifFHRFE: wait_length/n
FHFFLER: wait_length/siml_time
AR stay length/n
FHRAER: stay_length/siml_time

§7. 8 T SU( queue. c)

static char ResId[] = "$Header$":;

#include <stdioc.h>
#include <stdlib.h>

main ()

int i, siml_time;
int queue_ length, n;
double 1, m;

double wait_length;
double stay length;

while (scanf("%d %1f %1f", &siml_time, &1, &m) == 3) {
queue length = 0;
n = 0;
wait_length = 0.0;

stay length = 0.0;
for (i=0; i<siml_time; i++) {
if (queue_length && rand() < RAND_ MAX*m)
queue_ length--;
if (rand() < RAND_ MAX*1) {
queue length++;
n++; -

wait length += queue length? (queue length-1):0;

stay_iangth += quaua_iangth; -

prinzf(“ %4, quaua_iQngth];
;rintft“\n“];
printf ("average wait_time =%6.2£\t(%6.2f)\n", =
printf ("average wait_length=%6.2f\t(%6.2f)\n", wait length/(double)siml_time, 1*1/(m* (m-1)))
printf ("average stay time =%6.2f\t(%6.2f)\n", stay length/(double)n, 1.0/ (m-1));
printf ("average stay length=%6.2f\t(%6.2f)\n", stay length/(double)siml_time,1l/(m-1));

wait length/ (double)n, 1/ (m* (m-1))) ;

}
exit(0);




§7. 9 T ILERLT

1. aANAILT .

% gcc queue.c -0 queue
2. X7
% ./queue
100 0.1 0.12
000000O0OO0OO0OO0O1111111111
11111111111000011000
0000000000011 2222211
11111111111111111111
0000000000001 1112222
average wait time = 1.50 ( 41.67)
average wait length= 0.09 ( 4.17)
average stay time = 11.50 ( 50.00)
average stay length= 0.69 ( 5.00)
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§7. 9 A/ A JLEEITHRE)
500 0.1 0.12
000000000000000111111111111100000000
000000000000000000001111123333332222
112223233333332111000010000001101221
001111110000000001110000000000011111
222222111110000000000000000111111111
1221112221111111222222222223444444414
44444444555556666666666665555555505¢66
6666666666667 7767777777777788889101010
10 10 11 11 10 10 10 10 10 11 11 11 10 10 10 11 11 10 10 10 10 11 11 12
12 12 12 12 12 12 12 12 12 12 13 13 14 15 15 15 15 15 15 15 16 17 16 16
16 16 16 16 16 16 16 16 16 16 16 16 16 16 16 16 16 15 15 15 15 15 15 15
15 15 15 15 15 15 15 15 14 14 14 13 13 13 13 13 12 12 12 12 12 12 12 11
11 11 11 11 11 11 11 12 12 12 11 11 10 11 11 11 11 11 11 11 11 11 11 11
12 11 11 11 11 11 11 11 11 11 11 11 11 12 12 12 12 11 12 12 12 12 13 13
13 13 13 13 13 13 13 14 13 13 13 13 12 12 12 12 12 12 13 13 13 14 14 14
14 14 14 14 14 14 14 13 13 13 13 13 13 13 13 13 12 12 12 11 12 12 12 12
12 12 12 12 13 14 14 14 14 14 14 15 15 15 15 14 15 15 15 15 14
average_wait_time = 51.26 ( 41.67)
average_wait_length= 5.95 ( 4.17)
average stay time = 58.29 ( 50.00)
average_stay length= 6.76 ( 5.00)
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HATA<PZHEY, A\=0.1, u=0.08ZAHILTHL

TORR, ¥2al—aVBiliE100, 500, 1000EELSET, EDLIFHRRANE
S5, Ftz, TOEBEEGHEISRAL.
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